AREPEM AL $255 1989

GPA MAXIMUM DIFFERENCE ( 0/150 BAR)
120E OW

60N B0ON

30N ‘ G ' Q‘3ON

EQ

120E 150E 180 150KW 120W 90K
CONTOUR INTERVAL = 0.02(10 Mxx%2/Sxx2)

™ 2.4.33 GPA OFEBEOKFESA (HEHE)
0.1 (10m%/s?) DLEO#EHICE®DIFTWV5,

GPA MAXIMUM DIFFERENCE ( 2/150 BAR)
120E 15S0E 180 150W 120W 30K

60N

3305

O 605

1S0E 180
CONTOUR INTERVAL = 0.02(10 Mxx2/Sxx2)

X 2.4.34 GPA DEBEDOKFSH (20m)
0.1 (10m%/s?) LLEoEsicEsoiFTWw5,
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60N

605+

G0N

30N

3054

[BETHARE $255 1989

GPA MAXIMUM DIFFERENCE ( 5/150 BAR)

60N

30N

=\
& NN e
- S5 2

1303

120E 150E 180 150W 120W 90W
CONTAUR INTERVAL = 0.02(10 Mxx2/Sx%2)

2.4.35 GPA DEHZEDKFESH (50m)
0.1 (10m%/s?) LlLowEicEs 23T\,

GPA MAXIMUM DIFFERENCE ( 7/150 BAR)
120E 150E 180 1S0W 120K 90W

60N

30N

N 605

120E 150E 180 " 150K 1200 T
CONTOUR INTERVAL = 0.02(10 Mxx2/Sxx2)

X 2.4.36 GPA DEHZEDKFESH (75m)
0.1 10m%/s?) Dozt o3 Twb,
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SEMETHENERE B25% 1989

GPA MAXIMUM DIFFERENCE ( 10/150 BAR)
120E 150 180 150W 120W 0K

120E 150E 180 150W 120K S0NW
CONTOUR INTERVAL = 0.02(10 Mxx2/Sx%x2)

M 2.4.37 GPA DEBEDOKFESF (100m)
0.1 10m%/s%) DL EOERIcE 217 Tnb,

GPA MAXIMUM DIFFERENCE ( 15/150 BAR)
20E 150E 180 150W 120W 90W

50 60N

>’” g o N
30 Qf?g : /] 30N

)
o

Y,
| _%ﬁ“?@ : A :
EQ 4 %Mﬂi — : EQ

o

305+

T120E 1SOE 180 1SOW  120W  SOW
CONTGUR INTERVAL = 0.02(10 Mxx2/Sxx2)

2.4.38 GPA DEBEZEDOKFESF (150m) ‘
0.1 (10m%/s%) LLEDERIZEEDIF TV 5,
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SEWATHMRE  $25%5 1989

GPA MAXIMUM DIFFERENCE ( 20/150- BAR)
120E 150E 180 150K 120W  ° 90W

60N

305+

605-439

120K 1S0E 186 ' 1S0W 120KW 90K
CONTOUR INTERVAL = 0.02(10 M%x2/5%x2)

X 2.4.39 GPA DEBEDOKFESM (200m) -
0.1 Q0m2/s?) DlLousiciEs o Twb,

GPA MAXIMUM DIFFERENCE ( 30/150 BAR)
1208  .150E 180 150K 120K 90K

60N

30N

603

120E 150 180 150W  120W 90N
CONTOUR INTERVAL = 0.02(10 Mxx2/Sxx2)

B 2.4.40 GPA OFEHEEDOKFESH (300m)
0.1 Q0mE/sD) PLEodRicEEFoFTnwa,
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